	I am y=2x

I have a line with gradient 1 and intercept at y=1


	I am y=x+1

I have a line with gradient -2 and intercept at y=1
	I am y=1-2x

I have a line with gradient 2 and intercept at y=-4 

	I am y=2x-4

I have a line with gradient -1 and intercept at y=-2

 
	I am y=-x-2

I have a line with gradient 1 and intercept at y=-2 
	I am y=x-2

I have a line with gradient 2 and intercept at y=2

	I am y=2x+2

I have a line with gradient -2 and intercept at y=-2


	I am y=-2x-2

I have a line with gradient -1 and intercept at y=1
	I am y=1-x

I have a line with gradient 1 and intercept at y=4

	I am y=x+4

I have a line with gradient 2 and intercept at y=-2


	I am y=2x-2

I have a line with gradient -1 and intercept at y=-4
	I am y=-x-4

I have a line with gradient -2 and intercept at y=2


	I am y=2-2x

I have a line with gradient 2 and intercept at y=4


	I am y=2x+4

I have a line with gradient 1 and intercept at y=-1


	I am y=x-1

I have a line with gradient -2 and intercept at y=-3

	I am y=-2x-3

I have a line with gradient 2 and intercept at y=-1


	I am y=2x-1

I have a line with gradient -1 and intercept at y=3
	I am y=3-x

I have a line with gradient -1 and intercept at y=-1

	I am y=-x-1

I have a line with gradient 1 and intercept at y=2


	I am y=x+2

I have a line with gradient 2 and intercept at y=3
	I am y=2x+3

I have a line with gradient -2 and intercept at y=-1

	I am y=-2x-1

I have a line with gradient 2 and intercept at y=-3


	I am y=2x-3

I have a line with gradient -2 and intercept at y=3
	I am y=3-2x

I have a line with gradient -1 and intercept at y=2


	I am y=2-x

I have a line with gradient 1 and intercept at y=3


	I am y=x+3

I have a line with gradient 1 and intercept at y=-4
	I am y=x-4

I have a line with gradient 2 and intercept at y=1 

	I am y=2x+1

I have a line with gradient -2 and intercept at y=-4

	I am y=-2x-4

I have a line with gradient -1 and intercept at y=-3
	I am y=-x-3

I have a line with gradient 1 and intercept at y=-3

	I am y=x-3

I have a line with gradient -1 and intercept at y=4


	I am y=4-x

I have a line with gradient 1 and intercept at y=0
	I am y=x

I have a line with gradient -2 and intercept at y=4

	I am y=4-2x

I have a line with gradient 2 and intercept at y=0


	
	


